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I-2287 
B.A. (IInd Semester) 

Examination, May-June, 2025 

Roll No. 

(Changing Social Institutions in India) 

and B. 

SOCIOLOGY 

I-2287 

(SOSC-02) 
Time Allowed : Three Hours 

Note: There are two sections in the given question 

paper. Answer all the questions from Section A 

Maximum Marks : 70 

GUg-3T 

(Section--A) 

(Objective / Multiple Choice Questions) 

Attempt all questions. 

10x1=10 

P.T.O. 



Choose the correct answer: 
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(31) SEut 

(G) qH9R 

(H) HH 

(a) JE 

(2) 

Which is the second stage (Ashram) of a 

person's life ? 

(a) Brahmacharya 

(b) Vanprastha 

(c) Sanyas 

(d) Grihastha 
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(31) ARI 

(a) foHJUT 

(H) ifaT 

(a) Hcb 

Which of the following Karma is called the 

work done in present ? 

(a) Prarabdha 

(b) Kriyaman 

(3) 

(c) Sanchit 

(d) Satkarma 

P.T.O. 



I-2287 

(31) f 

(a) HISHcT 

(H) ct 

"Caste is a close class." Who's statement 

is this: 

(a) Smith 

(b) Michael 

(4) 

(c) Cooley 

(d) Madan and Majumdar 
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(a) HHIG 

(5) 

() 1GAifrcs 3È9U 

What is the purpose of Land Reform ? 

(a) Increase in agricultural production 

(b) Social justice 

(c) Political purpose 

(d) All the above 

(3) fafeqH AI^JR 

P.T.O. 
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(6) 

Which scholar first mentioned the Jaimani 

system in India ? 

(a) William Wiser 

(b) Oscar Levis 

(c) M.N. Srinivas 

(d) Kethlin Guff 

(H) HHRI 
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Which scheme 

(7) 

employment and wages ? 

(a) Digital India 

(b) Startup India 

(c) MGNREGA 

(vii) H8IHI 

(d) Make in India 

(3) 2008 

(a) 2005 

focused on improving 

PT.O 
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(H) 2010 

(a) 2015 

When did Mahatma Gandhi National Rural 

Employment Guarantee Act (MGNREGA) 

start: 

(a) 2008 

(b) 2005 

(8) 

(c) 2010 

(d) 2015 

(31) 9qH HGI 
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(H) t 

Which of the following is an obstacle in the 

way of rural migration ? 

(9) 

(a) Migration capacity 

(b) Migration rules 

(c) Distance 

(d) All the above 

(31) toUT 

(a) EfHI 

P.T.O. 
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(10) 

What is the direct result of Unemployment ? 

(a) Urbanization 

(b) Poverty 

(c) Monogamy 

(d) Joint family 

What is the role of Lokpal in India ? 

(a) Conducting election 

(11) 

(b) Investigating corruption 
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(c) Collecting taxes 

(d) Enforcing traffic laws 

(Short Answer Type Questions) 

Q. 2. HÌ 99t 3R 100 yrat aifsu| 

Answer all questions in 100 words. 

4x5=20 

What is Purusharth ? Explain its types. 

marriage. 

Explain 'Mehar' and its types in Muslim 

PT.O. 



(12) 
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Define urbanization and explain the problems 

of urbanization. 

What is unemployment ? Explain causes and 

types of unemployment. 

qug-s 

(Section-B) 

(Descriptive Type Questions) 

Note : Answer all questions in 350 words. 

4x10=40 

Explain the current changes taking place in Indian 

social system. 

(13) 

OR 

What is Caste System ? Explain its meaning. 

definition and characteristics. 

Q. 4. qraR 3AURUI L£ ori oi HHGIST| 
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Explain the concept and functions of family. 

31 

OR 

P.T.0. 



Q. 5. 

Q. 6. 

What are the problems of Indian farmers ? 

(14) 

Discuss. 

Discuss the objectives and importance of rural 

development in India. 

31 
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OR 

What is superstition ? Discuss its causes. 

What is corruption ? Discuss its forms and 

suggestion to prevent corruptions. 

(15) 

32dT 
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OR 

What do you understand by cyber crime? 

Describe its types, causes and remedies. 

9,800 
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